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Extension 1 Mathematics

Assessment Task #2 — Trigonometry

June, 2002
Syllabus Topics to be covered in this task : 5.1-55
E5.6~E5.9
Syllabus Outcomes to be addressed in this task : P3, P4, PS

PEL, PE2, PE6

¢ Time allowed is 45 minutes }
¢ There are 3 questions, each worth 12 marks
» The mark value of each part is indicated in [..] next to that part
« Siart each question on a new page
* A trigonometric Formula Sheet is enclosed
Question1: (Start a new page) [12 marks]

(a) Find the exact yalues of :

o §in210° (i1

G sec315° [2)

- 2

/(',lfj iy tan = [2)
(b) (i) Sketch the graph of y =cosx for 0Sx <27 . [2)

(ii) State the period and amplitude of y=cosx . 2}
(c) Solve the equation 4cos’e—3=0 for 0°< o < 360°, 3)
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Question 2:  (Start a new page)

(a) Simplify :
(i) sin3xcos2x~cos3xsin2y
in o
i) 2tanls

I—tan?i5°

L3
(b) Prove that tang- 31" 9=sin6.c030 .
cosé

(c) If y is obtuse, and tany=—§ . find the exact value of :

)] cosy .

(i) cos2y

%)
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Question 3:  (Start a new page)

Nog o : N - ST
/éﬂf\ Given the expansion cos(a~f3) =cosq.cos B+ sina.sinf show

that the exact value of coslS":@ .
22

(3

(b) Point X is due soyth and point Y is due west of the fool F
of a mountain TF of height /1. From X and Y, the angle
of elevation of the top of the mountain T are 35° and 43°
respectively,

6D} Show that XF = J;.tan55° and YF =h.tan47° . [2]

(i) If X and Y are 1200 metres a

part, show that the height 4 3]
of the mountain is given byt

he formula :

he 1200

;}(lanz§5°+ tan’ 47°)

(c) In A ABC, £ BAC = 60°, Prove that a®-p*<¢(c -b). [4]

End of Tasgk
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